50073

U .

Roll No Code No. 037
qfene e F SI-YRETH F G-
g8 W o7y ford |
Candidates must write the Code on
the title page of the answer-book.

* NOTE/ME:

(@)

(i)

(iii)

(iv)

Please check that this question paper contains 27 printed pages.
maﬁmﬁﬁﬁsﬂw—wﬁg&ﬂwﬂ%l

Please check that this question paper contains 39 questions.
msﬁaaﬂé’%s@rm—wﬁww%u

Please write down the Serial Number of the question in the answer-book

before attempting it.
mmwwﬁ@mgﬁmﬁm,wwmmﬁaﬁl

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students
will read the question paper only and will not write any answer on the answer-

book during this period.
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Time allowed : 3 lours

General I nstructions/Qrr=y (939

Read the following instructions ve

—
_———-———-

; : hem.
ry carefully and strictly follow th

TretfeTfiera et = srga a2 wfiy i s v FR

(1)

(i1)

(iii)

(iv)

(vi)

(vii)

(viii) There is no overall choice in the question paper. However, internal choice has b

(iX)

Question paper comprises 5 sections- A, B, C, D and E Isory- 2

e | Wty b e ’ ’ ’ bt ' - 3 m u SO yo g@. ”
There are 39 questions in the question paper. All questions are Co,tl;/{ # gl g
ST e @S fior foven en & - o, @, T, W, T F | A
Tt v S1frar ¥ f
Section A - Question No. 1 to 20 - all questions or part thereof are O Reasoftty

questions comprises multiple choice questions (MCQ) and Assertion” -
Answer to these questions should be given in one word or one sentence. -

m—?%W/mm(m1@20w)w—WW¢%'—ﬁmﬁ ” 7 few A
SRR ST 35 e ) e o T | e 5 9 1 7R Ao 1A

=feT | ! rks
Section B - Question No. 21 to 26 are very short answer type questions, carrying 2 ma
each. Answer to these questions should not exceed 30 to 50 words.

WU - T T FEA 21 9 26 7 SHieTaiia Wb F T § | T4 T 2 FF HIE | Tdeh A <l
ST AT 30 9 50 ¥kl | e e G =z

Section C - Question No. 27 to 33 are short answer type questions, carrying 3 marks each.
Answer to these questions should not exceed 50 to 80 words.

TUE - T H J¥ TEAT 27 q 33 Tk AT FHR F 997§ | Teeh 97 3 37 I & | Tedeh T ol ST
ST 50 F 80 W] § SAfereh T €l =y |

Section D - Question No. 34 to 36 are long answer type questions carrying 5 marks each

Answer to these questions should not exceed 80 to 120 words. ~
TUE - I H Y¥ G&AT 34 ¥ 36 Tk <6 ST TR o6 U9 € | Tk U9 5 37 h1 & | T T Tl IR

TRTH 80 ¥ 120 YIS W Sfeer &1 g wifeq |

Section E - It consists of 3 source based/ case based units of assessment of 4 marks each with

one mark each. These
pe questions.

rE N T . )

'™

sub parts.
YUS - & 59 Jlioh I 3 I SR / Feh0l ST 4 STeh 1 Sohrean €, Tl wedres o sqammr

Answer should be brief and to the point. Also the above mentioned word limit be adhered

to as far as possible.

wﬁmawﬁwmmaﬁt@ﬂé@ﬂﬁ?@—%ﬁﬂ%ﬁwmmm@.

een provided

in some questions in some sections. Only one of the choices in such questions have to b
e

attempted.
YT & THYI W IS fehed TE HWWWﬁWMﬁWW&QﬂQ%| A o

¥ Shaet T &l feorered o1 W fafay |

In addition to this, separate instructions are given with wherever necessary

T Sifafier, STATIRAIIER, W¥ & W1 geifer fdy fg mo &)

;—‘-«-__—‘-,\u;\r —— ———
e
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Select and W;
r
ite one most appropriate option out of the four op

SECTION - A / @8 — @

tions given for each

of the questions 1-20. ferfae
WA1-20H ‘ .
0 T e ¥ fag mu-=iw ferepedt #f @ TR S by s |

1. Wh
leaflg}lt one of the following condltlons is true for the st
own in the given diagram.

ate of stomata of a green

e

A Stomata
| Guard cells

(a) Largeamount of water flows into the guard cells.

(b) Gaseous exchangeis occurring in large amount.

(c) Lérge amount of water ﬂows

(d) Large amount of sugar collects in the guar

out from the guard cells. -

d cells.

(a) s

HifTRreti | ﬁmﬁaﬁtmﬁmwww%ﬁ@@%l

(b) srcferer W # G 1 SEH-FE & W@

(c) 8K
(d) 8N

PiferEisil ¥ <1 HI STATYH A ST @TW%H‘@@%I
FxfereT B IR0 Y STeafeeR W TR o TR €

1
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Asexual reproduction takes place through budding e

ishmania
(a) Aaneba (b) Yeast (C) PlasmOdium (d) Leishma
DO BT 2retfires s ey BT ®? 4

d added Barium Chloride

A student took Sodium Sulphate Solution in a test tube an ed. The colour

Solution to it. He observed that an insoluble substance has for
and the molecular formula of the insoluble substance is :

(@) White; Ba(SO,), (b) White; BaSOy

(c) Grey ; Ba(SO ) (d) Yellow; BaSOy,
Forit S 3 o el o i et foere e e A e fAeT e
S 30 o o aefrdvn el o e | 5 e e 1 € AR S0

FE?

(a) ¥ ; Ba(SO,), (b) WS ; BaSOy

(c) ¥ ; Ba(SO,), (d) T ; BaSO,

4. Study the given table and choose the correct option.
Salt Parent Acid | Parent Base |Nature of Salt

(a) |Sodium Chloride HCl NaOH Basic

(b) |Sodium Sulphate H,S0, NaOH Acidic

(c) |Potassium Carbonate H,CO; KOH Neutral

(d) [Sodium acetate CH,;COOH NaOH Basic

g < T difcreRt S STEAAT ik Wel faehen i

o o | v [ A g
~ T ]
O N GUEREEEINES HCl NaOH  |erefyg

(b) [Fhfem e S NaOH sy |
(c) |dr2firm FmaitE 0, KOH  |mee

\

\
A ——— s
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» (b) Iron (c) Magnesium (d) Calcium
w2 R W o e 5w i e 2 4 e B o e T
@) Sk (b) S (c) Trhfiem (d) hfeaT™

The sex of a new born child will be Male, if he inherits :

(a) "

X Chromosome from the father and Y Chromosome from the mother

(b) Y Chromosome from the father and X Chromosome from the mother

(c) Y Chromosomes from both the parents

(d) - X Chromosomes from both the parents

Tepelt ~feremrr forg] =1 fefm = S 4 @ e A
@) ﬁmﬁxwéﬁr{m@yw

(b ﬁm@YWsﬂtwﬁxw

() ST o

(d) < X TR

In a food chain the third trophic level is always occupied by the :
(a) producers (b) decomposers

(c) carnivores (d) herbivores

fert SR Al H A O W R e A T

(a) SAF (b) eqtmrsim ( 3TUERER)
(c) ﬂT»ETE‘IT“T (d)
' 5



8. 1

Cufriouowmg diagram represents the pattern of the magnetic field produced by a
ntcarrying conductor which s a :

‘®>> <<(@

(a) Straight conductor

(b) Circularloop

(c) Long Solenoid (d) Solenoid with an iron core inside

:ﬁ%m“ﬁaﬁ@ﬁ%ﬁﬂmm%’rqmasm 3 I &3 o e o1 Treaor fhan
TR T YRR e ) SRy 52 2 ’

. ®>> <<<® .

(a) ten =R - (b) SNHR I
(c) ol aRATferR (d) e S e AT

9.  Consider the following balanced chemical eqﬁatiOn.
Na,CO, +xHCl - yNaCl + H,O + CO,T
Here the coefficients x and y respectively are
(@) 1,2 (b) 2,1 (c) 2,2 d) 2,4
= < T Hfera TErEfe THR W R iy
Na,CO; +xHCl - yNaCl+H,0+CO,T
WWﬁWx?aﬂ'{ya?qﬁW: 8-
(@) 12 ®) 21 9 B @ 2.4

i 6
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10. The fluid component of blood that transports food, CO, and nitrogenous wastesis:

(@) RBCs (b) WBCs

(c) Plasma (d) Platelets

TR 1 5 Tt Heeen HiE ¥ e, CO, S TEEe! ot} 1 e A <7
(a) RBCs (b) WBCs

(c) (d) wieed

11. When sodium hydrogen carbonate is added to ethanoic acid a gas ‘X’ evolves.
Consider the following statements about this gas.

(i) ‘X turnslime water milky

(ii) ‘X evolves with a brisk effervescence
(iii) ‘X’ smells like a rotten egg

(iv) ‘X’ isalso a product of respiration
The correct statements are :

(a) (i) and (ii) only

(b) (i) and (iv) only

(c) (i), (iii) and (iv) only

(d) (i), (ii) and (iv) only

S Hifee TEEieH Eie § THig TR faee ST € d g 9 X et 1 59
g 3 o H A e T el W e SN
@) X < % T R g S

(i) X’ ea gegETee § Feherd ¢

(i) “X’ o e TS S0 K TieT S A €
(iv) ‘X’ Y8 %1 IIE |

T A FUT -

(a) FFa (i) SR (i)

(b) a (i) 3T (iv)

(c) e (), (i) 3 (iv)

(@ A (), (i) R ()
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12,

13.

ST

¢ the following €Vents in the
. i . h O
If Salivary amylase is lacking in the saliv® e
outh cavity will be affected ?

(a) Bl'eaking down of starch into simple suga™
) erol.
®) Breaking down of fats into fatty acids and glyc

(©) Bl'eaking down of Proteins into amino acids.

(d) AbSOrption of vitamins.
Hﬁ:wﬁm—qﬁqﬁamaw%aﬁwwaﬁmmgﬂmaﬁ?

(2) =T i weet st & wue

(b) = 1 =ftg et sk R # wWe

(©) W =T STl srect Ut

(d) TSI = srerio

In a crop field ecosystem a pesticide is sprayed periodically on the wheat plants.

If in addition to the wheat plants some organisms such as rats, peacocks, snakes
and eagle are also the parts of the ecosystem, which one of the following will have

the maximum concentration of the pesticides in body ?

(a) Wheatplant (b) Eagle (©) Rats (d) Peacocks
Wwﬁﬂma@mﬁﬁiﬁﬁﬁﬁwmq—wmﬁmmwmm
T afe B[ (Ed) ﬁﬁéﬁn"‘ﬁ":ﬁ%WQT—ﬂww T S _\ﬁ_gq%_’ R q\fqaﬂ_{_m

(SHT), ﬁwmﬁaﬁaﬁm%,ehﬁw%r@aﬁﬁﬁ?qé;wﬁwaﬁm
afiyeh wigan Wl STt 2 '

(a) TEHIA (b) RE(EFD) (o) 3 @ i

1

8 R
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14.

15.

16.

When the PH of an aqueous solution increases there will be :

(a) anincreasein H* ion concentration as well as in acidic nature.

(b) adecreasein H* ion concentration and an increase in acidic nature.
(c) adecrease in H* ion concentration as well as in acidic nature.

(d) anincrease in H* ion concentration as well as in basic nature.
afs Tl Siefta faemem & pH A gfig St & @ su foemm &
(a) H* TR & Wigan % wiy-wrer g eneha wahfa & of gfeg ai |
(b) H* T = Wigan & Fwit iR avweita wepfs A 9 A7
(c) H+ TRl 1 Wigal F Wro-wre ST oreitd wehfa # off et gt |
(d) HY sEEl ® wiga ® wo-wY SHE! ARk gk d off gis g

The pattern of the magnetic field produced around a current carrying straight

conductoris:
(a) concentric ellipses whose centre lie on the conductor

(b) concentric circles whose centre lie on the conductor
(c) parallel lines all around the conductor

(d) lines emerging out of the conductor radially

TRt yRETE Y ST ER SO Rk & w1 e SR Bl © 2
(a) EH Srefa ForeRT e =i TR Bl § |

(b) TS g FTehT w5 =TT RS €|

(c) el o =R SR FHRR (&M |

(d) = § frfa g |

If a round, green seeded pea plant (RRyy) is crossed with a wrinkled yellow seeded
pea plant (rrYY) the seeds produced in F; generation are:

(a) round green (b) round yellow

(c) wrinkled green (d) wrinkled yellow

afs Foreh irer B SiSAl AT HeR 35 W (RRyy) 1 HeRoT femelt gffam et < et He
F Y (erYY) F T FTA S, < F, Fard H S Wil o i Ga €

(a) TR (b) et diet
(© TR R @ Fw
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question™”
~ Answer these

Q.No. 17 to 20 are Assertion and Reasoning based )
n (R
son ( pelow :

These. consists of two statements - Assertion (A) and R‘::la(d) giverl
questions selecting the appropriate codes (a)/ (b), (c)an

(@) Both (A) and (R) are True and (R) is the correct explanation
(b) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(c) (A)is true but (R) is false.

(d) (A)is False but (R) is true.

T TS 17 T 20 afiher 3R SR SEid 597 € |

TS e Bl tfireker (A) T gER 1 sNOT (R) g i el T T
SW AR T T F (a), (b), (c) 3R (d) F TR AT

(a) i:z\%m)aﬁzm(m 21 g it HRO (R) , SR (A) T EE AT
|

(b) 3TfrRer (A) R RO (R) S W& & aeg RO (R) , ST (A) hi HEl AR
& T g |

(c) e (A) 9 8, g R (R) 7o 2|
(d) SH¥her (A) TTerd &, T RO (R) WEF 7

17. Assertion (A) :Nerve impulse is conducted only in one directj
Irection
: 1

Reason (R): Nerveimpulses are always transmitted acros
a i S
xon terminal of one neuron to the den drites o fa til}’napse from the
€ next neuron

aﬁmm(&:aﬁmwﬁnwaﬁmm@@&wﬁm%
|

FIOT(R) ;T ST A T T
‘ et fh Wﬁ@@mﬁ?ﬁhﬁmw

———
————
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18.  Assertion (A):
Reason (R):
TR (A) :

ART (R) :

19. Assertion (A):

Reason (R):

IR (A)

‘EITUT (R)‘;

; : f
CH,Cl is obtained from CH, by the action of Cl, in the presence 0

sunlight.

; i isplaces less
In a displacement reaction a more reactive metal disp

reactive metal from its compounds.

o % v ) gufeerfe § CH,, FdA (Clp) & AP 7% CH,Cl
AR

ﬁwwafumﬁaﬁréafwafmﬁﬁamgmﬁ
H@aﬁmzﬂﬁéﬁﬁfmfﬁﬂm%l

7 2AfafRamRie

In the given chemical equation.

CuO+Zn _Heat | ZnO+Cu

7nis oxidised and CuOis reduced.

When oxygen is added to a substance, it is said be oxidised and
when O, is removed from a substance it is said to be reduced.

CuO+Zn S ZnO+ Cu H Zn =1 ST G CuO 1 ST
BT

mﬁ@ﬁmﬁﬁaﬁ@mmﬁw@m%?ﬁ%ﬁ%ﬁﬁmw
o & e T wered QSRS ged §,  hed € fen SHeRT ST g
]

20. Assertion (A) :The resistivity of a conductor increases with the increase in

Reason (R) :
SR (A)

T (R) :

temperature.

The resistivity of metals is higher than that of the alloys.
o} =TT 1 Hiekiehal SHeh A § gig A W 98 Sl 81

urgett o e fasmgedi it wfokiesha 4 it Bt T

037-SC
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SECTION-B/T@UE - 9

Q.No. 21 to 26 are very short answer questions-

SR 21-26 AT W I Q| ).
21. (a) Inhuman respiratory system, which of the part( )

(i) are actual sites of gaseous exché}ng? ' orings?

(ii) is provided with C-Shaped carhlflgmounjsms faster than
(b)  Why is the rate of breathing in aquatic orga

m ‘terrestrial

organisms ? :
(a) T Yo A % 39 9 w1 T fafed :
() el 3 sTer T o St T © S 4
(ii) ﬁuﬁc-w@ﬁawﬁwﬁ%wwﬁ’ﬁ d ?ﬁaa;;ﬁ-@’cﬁ ?
(b) Wﬁaﬁwaﬁwﬁaﬁﬂﬁﬁwaﬁ%
unclear. Name the

black board blurred ane auses of developing

22. A student finds the writing on the .
st two mainc

defect of vision the student is suffering from. Li

this defect. How can this defect be corrected ?
OR

(i) Which defect of vision is represented in the diagram ?
(ii) What could be the two causes of this defect ?
(iiiy How can this defect of vision be corrected ?

fordt BT @1 YW Tg W o S1eR YUt iR oo fewr 34 €)1 Su gfie 9w % A
fafay forad = o difed €1 39 319 % <1 SR i Gt a0 1 39 <Y 1 GuNeE 5y

YR Tepan ST & 2 ,
3797

ﬂ%ﬁqwaﬁ@wawﬂqmﬁﬂﬁf@ﬁuﬁ%waﬁqz

N N’ S>3 § / f ’.....'.'.'.'.‘.'.':.-w..

() 39 3@ ¥ fohd gfe < 1 Frewor foman man @2
(i) T < ¥ < HRO D FHA S 2
(iii) 39 9 Al forq WohR Weifera fera S wean & 2

037-SC
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- 24. An electric iron of re

23,

25.

6. Statethe changes t

- solutions will tyr

e R e e e e e e

While dilutj
ting an acid . \
water and not waterlto, ‘tll\;}el};léét; eco_mmended that the acid should be addedto 2
cid ?
OR

nd ‘ '
- B have pH values of 3.0 and 9.5 respectively. Which of these

Two solutions A g

@ L .
(1:) liiltmus solution from blue to red and
henolphthalein from colourless to pink ?

];S‘;iffy youranswer in each case.

YA

WEWWwwwaﬁffww%ﬁﬁmﬁwﬁmm

e, 3§ <l frremn s =nee ?

HRACKEEI N ‘
AaﬂtB%pHm:&oaﬁw.s%l"sﬁﬁﬁﬁq—mﬁam

() Torend faema & e 1w o« # gfafda & <m, 92

(ii) T BHTaaa e o e TR < ?

e YT § ST S I e Hifse

sistance 25 Q takes a current of 7A. Calculate the heat

o5 o iferdT S SIS T TR 7A S

develqped in 30 seconds. , . -~
SRS s 30 YeFu T IeE B A S
qfierferd IS | . |

ed by plants to get rid of excretory products.

w@ﬁ@mﬂqﬁﬁwﬁfuﬁaﬁxﬁﬁml

List four methods us

qﬁq’fgmmﬁgaqﬁﬁ

hat take place in the uterus if :

(a) fertilization occurs and

(b) fertilization d

oes not occur.

@) forirert B T
ﬁﬁmqaﬁmmﬁmﬁ@ﬁaﬁqﬁaﬁwﬁ@ﬁﬁm

(b
///,13
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SECTION-C/@Ue - T
Q.No. 27 to 33 are short answer questions.

T 27-33 AW W ¥

27. An object of height 4.0 cm is placed at a dista
of focal length 8.0 cm. Using lens formula find the:

(i) positionand

(ii) size of the image formed. ¢ Feord
¢ 4.0 om 398 1 e 8.0 o i gl 3 T < 3 WA 24 cm F G |
R o ST e S et Wi ) »

(i) Teafy ek |

(i) WRS | =S

née of 24 cm in front of a convex lens

: : ile alcohols
28. (a) “Hydrochloricacid shows acidic characters in aqueous sc?luhon Whllet al'ustify
in aqueous solution do not show acidic character”. Give reasons to j

your answer..
(b) Define water of crystallisation. ]
() ' TESIHRARE St Srefta farerml § sl e Sviar & S Teshiefal  faerH
TH T <9 1" 39 e i e SR I M
(b) T & St =t iy fefaw )

29. Astudent performed an experiment to study the inheritance pattern of genes. He
crossed tall pea plants (TT) with short pea plants (tt) and obtained all tall pea

plants in F, generation.
() What will be the gene combination of tall plants in the F, generation ?

(i) Givereason why only tall plants are observed in F, generation.

(iii) WhenF; plants were self pollinated, a total (?f 800 Plants were produFed m F,
generation. How many plants of F, generation will have gene combinations:
(@) TT, (b) Ttand (c) tt?

fereft B = S % STTeifren e 1 31EAE HT ok AT U v R sy e A

T Gl (TT) 1 7 o s Wl (1) S ner Seheon s et B, wafiy o et 9 oy

Tl |

(i) F,wafa & 9l &1 SiH-gaee a@a‘m.?

(i) Flm%ﬁeﬁﬁmmﬁ%ﬁ%émxmm,ﬁ

iii) W F, Gafd & el w1 IR SO T, @ E, 800 908 e )
T (a)T'}’, (b) Tt 3R (c) tt SAA-HAISH % Well it T =y 2y 2 & _

2l

3

3

037-SC 14



30.

(b)

(a).

(b)

(b)

(a)

(b)

(a) Complete the following table.

—

Formula

Oxygen Ozone

Benefit to the living
organism on the earth

i : ? Give your answer
How is ozone formed at the higher levels of atmosphere ? Givey

in the form of chemical equations.

OR
Whatis an ecosystem ? Name its two components.

List two roles of decomposers in an ecosystem.

= & T aiferht U RN

CREI

i ol el § 2 gﬁ%aaaaﬁ%ﬂmﬁf@w

wmﬁmmmﬁmawaﬁaﬁwig

A 15

——
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31.

32.

Why does the colour of copper sulphate - ved init.

dipped in it ? Also write the chemical reac
OR

Define the term decomposition reaction. Giveche
showing

(i) thermal decomposition and (ii) electrolytic de
HIR et forerr ST 1 e g e 7
et tfufshan w1 Tt Tt o fafel

At
3Taere (feras) sffspan =t g faf@e |
() T foriem sifufsran oik
(i) o Ferdom (feregaramrest) afufsman 3 fere @ TR I

mical equations for the reactions

composition.

(a) State Ohm’s Law
(b) Study the following circuit

+ —_
+6V_1Q] ZiQ 30
114 —mm—l
B—)-

K

(i) Whatis the total resistance of the circuit ?
(i) What is the current flowing through the 2 Q resistor when circuit is
closed ? '
(a) 4 w1 Fram fafEu
(b) = fu T gRkaer =1 S1EAFA HIfST |

+

+ —
L6V_10 30
i
BA——)
B)— ()
¥ K

(i) 39 uftay w1 Fa Gy FE?
(i) aRger I T B W 2 0 TR F Fafed Ry free 39

037-SC 16



33. i) Wh .
ena beam of white light is passed through a glass prism, it gets dispersed

into its com i
reason. Ponents (seven colours). Why do we get these colours ? Give

i) In : :
(1) the given figure, the colours X and Y represent the extreme components of

the spectrum of white light. Identify X and Y.

Y White light

Prism

(iif) Out of the two colours X and Y the light of which colour scatters the most

and why ?

(i) m@ammﬁégﬁmmﬁﬁmﬁw%ﬁaﬁmﬁaﬁ(mwﬁ)
F wafE & o ¥ o I8 ol i W A § 2 R QIS

5 e T ST v TR ¥ e S arEat 3 3 fdl & S b X SR Y B

(if)
forefire o T &1 X SR Y Y TS I

(iii) X sl Y B @ for ool 1 Fehioi sifrran g ¥ iR @ 2

037-SC 17



_u
SECTION-D/ @S

~ Q.No. 34 to 36 are long answer questions.
9 " 7
W 34 9 36 < ST AW T ryfoundinthlsor;-itiiz
. 1 cu i e
34. (i) Name theoreof mercury. In which form15 metrhi s ore giv ing the ¢
the method of extraction of metcury frorrrlocess‘
equation of the reaction(s) involved in the P

- ) ) NPT o N ivi
(ii) Explain how is a metal, which is high 1In reactivity

compounds.
eh od conductors

X,0 is one of the goo*
l(zirr?g( e:fec)tric wires. 1dentify the Metal

i A metal ‘X’ found is nature as sulphide
uations for the reactions involved in

of heat and electricity and used in ma
X’ and write the balanced chemical eq

the process of its extraction. .
(i) With reference to the electrorefining of impure copper, answer the followIng:

(a) Name the electrolyte used.

(b) Name the cathode and anode used.

(c) What happens at the cathode and the anode ? Explain.

(i) TEHO % T o fafa | wmﬁmmwﬁwm%? AR
@q@ﬁﬁﬁsﬁawaﬁﬁfﬂwmaﬁwmaﬂmﬁ%

et T <4 g IS |
WW%WWﬁWWﬁWH@@MW@WW

I TR ST §
3TerEr

Wﬁrﬁwm(xzoﬁmﬁmﬁaﬁrww%x,sﬁm 3R fawa

. = a7t e, o1 SN farg ARl % Treior § foRe S €1 eng X 0 wgntg
iR wap o o afEe § 8 arelt SRSt % TerEttn TR fafe )
(ii) Wﬁm%ﬁqamwﬁqﬁw%ﬁaﬁﬁﬁﬁqmm%mwz
(a) mmaﬁaﬁﬁgﬁm@ww%ﬁwl
(b) S R ST et Selie S TS % W fefew
(c) Speire &I TS T A1 e § 7 SAEA ShifS¢ |
18 =
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35. Acurrentcarryin
questions.

g conductor is placed in a magnetic field. Answer the following 5

| (i) Listfour factors o

depends, nwhich the magnitude of force experienced by the conductor

(i) When s the magnitude of this force maximum ?

(ii) Name and state the rule which helps in determining the direction of force/
motion of the conductor,

(iv) If initially this force was actihg from right to left, how will the direction of
force change if

(a) direction of magnetic field is reversed ?
(b) direction of current is reversed ?
OR

In our daily life we use two types of electric current whose current-time graphs

are given in the following diagrams.

N

>
»
>

ANVAN
—» Time \/) —>\lime
‘ : |

(2)

—>» Current

—>» Current

current in two cases.

(i) Name thetype of

i) I dentify any one source for each type of current i
ii |
‘ ¢ current in case (b) in our country ?

(iii) What is the frequency O

times the currentincase (b) changes its direction in one second ?

(iv) How many
fferences between the two currents.

(v) On the basis of these graphs list two di
S 19
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- (i) 39 9 w1 qRHr S StfieRdd BT © 2

ﬁu’rﬁa
(i) wﬁwmwaﬂtwmﬁﬁf@ﬂﬁﬁwwmw/ﬁﬁm
AT 7|

(iv) H&'mﬁmwﬁﬁwa@ﬁmﬁaﬁaﬂﬁ,?ﬁwﬁﬁwmm qRafda
BT 4fg

@ i &5 ot fu Serfhd ¢ <t 9,
(b) =R =i fewm Shf e & S ?

YAr

Eqaqﬁ%ﬁ?ﬁa?ﬁamﬁﬁgﬁ YIS <1 ST hd & Feh TR-99F U6 -
aﬁ@ﬁﬁq%%n

Ar ' A.
2 E |
1 NN
(a) (b)
(@) Syl H W S YRR w1 A fofan

(if) T TR hT ¥ % FoIT TH-TF T A TE=H FHifor

(iii) BHR U § YL (b) T ¥R i M o § 2

(iv) W(b)ﬁmﬁﬁwwwgﬁmﬁwvﬁaﬁaaﬁ%?
(v) T IH & MR R A e F A D R A gy
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36. (@) Ano

(b)

t8an secrete
body Now an S @ hormone which regulates the blood sugar level inour 5

Swer the following questions :

(1)

Nam,
e the hoy
10rmone and the organ which secretes it.

i) Explaj
) ;\ Ip lain the feedback mechanism that regulates the timing and amount
Ofhormone releageq.

yhy S ttimportant for us to have iodised salt in our diet? What will happen
the intake of iodine in our dietis low ? Give one symptom of the disease.

() TAR IR 1 TH 7 et B o et o & S TRR-TE ¥ TR ) AEEE

(b)

AT B |

(i) ¥ e A SR T A R A s A fefe

(if) o B STl BIHI o WA ST SWeht | bt Foeifire v it g ety
%t AT HIfSTC | -

siror ¥ ST Tl Bl TAR o i Wyt § 2 af e IS ¥ ST
=3 et &, @ T e ? B At AT <1 T w1t feafa |
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SECTION-E/TUS - ¥

3;317(120 39 are case-based/data based questions W ith 2
1s provided in one of these sub parts. A
) e ST H SR

W37-39manuﬁa/manu1ﬁaW%ﬁ?ﬁ 2-33‘1““”%' ki

d IV as shownt in the diagram
h of each test-

37.  Astudentadded ethanoic acid to test-tube I, 11, Il an tube.

and then introduced a burning candle near the mout

CHBCOOH CH3COOH
QY NaxCO3 NaHCO; |\

@) (II) 111)

(a) Inwhich test-tube/test tubes the flame will get extinguished ?

(b) Name the gas which extinguishes the candle flame and write its chemical
formula.

(c) Write the chemical equation for the reaction taking place in the test-tubes
where the flame of the candle get extinguished.

OR

(c) Ifethanoic acid reacts with ethanol in the presence of conc. H 550, as shown
in the setup in the figure, which substance is produced ? Write the chemical
equation for the reaction involved and state the role of conc. H,S0O, in this

reaction.

Conc. e C2H5OH
stoz}m

P . ethanol

037-SC 22
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Al
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Slice 1 in a dry and dark place.

Slice 2 in a moist and dark place.

Slice 3 in a moist and cool place like in ice or refrigerator.

The student observed No growth/change in slice 1 and 3 but found something
growing on the slice 2.

(a) Whatis the reason for no growth or change inslice1?

(b) Which factor stops the growth m slice 3 ?

() Why did the student find profuse growth in slice 2 ?
OR

(c) Name the reproductive and non-reproductive parts of the bread moulg

O survive ?

\Zg;i~ .
037-SC 24
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ght falling on it is called

39. A hi - » ich r f the li
highly polished surface which reflects most 0 . - mirrors are classified

mirror. On the basis of t cting surfaces, t _
SRl The spherical mirrors are

into two categories - plane mirror and spherical mirror. T —
. . - i i or
further classified into two categories - concave (curv ed inwards) MU

' . : t types of Mirrors
(curved outwards) mirror. If we observe our face in these different typ

: . . : e formed in the
keeping the mirror at about 20 cm we find that the size of the iImag . )
. e ace from a
mirror is different and in one of the mirrors when we observe our .
are given in tabular

distance, we find the image of the face to be inverted. Below ; i
form some observations of a student, when he observgd the image of a can le

flame in three different types of mirror A, Band C

Description of the image when observed in the mirror

from a distance of

Mirror
20 cm 50 cm
A Virtual, erect, diminished |Virtural, erect, diminished
B Virtual, erect, same size Virtural, erect, same size
C Virtual, erect, magnified  |Real, inverted, same size

(a) Name the mirrors A and B.

(b) What is the focal length of mirror C?

Draw labelled ray diagram to show the image formation by the mirror A.

(©

OR

An object is placed at a distance of 18 cm from the pole of a concave mirror of
focal length 12 cm. Use mirror formula to find the distance of the image

from the pole of the mirror.
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STTSITE, TVET, ST § BT |ToTe, e, arest | SieT -
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(a) i A iR B 3 T FafE

(b) T C HI R G A

©) mAmgﬁﬁwwaﬁéﬁmmﬁaﬁm @ Eifaw |

AAAT

(c) Te foFsl 12 cm HRg gl o TEdc 18 cm =0 T feora ®) gh-g
C Fgf':l gdu % g q =il
<l YA hlch PIGIELS ey gyl % 128 g Qfl SRS LY
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T
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